

ON THE UNIFORM NÖRLUND SUMMABILITY OF LEGENDRE SERIES

by L. M. TRIPATHI and K. N. MISHRA, *Department of Mathematics,
Banaras Hindu University, Varanasi 221005*

(Received 12 April 1977; after revision 4 August 1977)

The (C, α) and (N, q_n) summabilities of Legendre series have been discussed by a number of workers, viz. Hobson (1909), Haar (1911), Chapman (1912), Plancherel (1914), Kogebetliatz (1942) and Tripathi (1977), but the study of Legendre series by the uniform Nörlund summability method does not seem to have been attempted. In an attempt to make an advance in this direction, a theorem on the uniform Nörlund summability of Legendre series, has been established in this paper.

§1. The Legendre series, associated with Lebesgue integrable function in the interval defined by $-1 \leq x \leq 1$, is

$$f(x) \sim \sum_{n=0}^{\infty} a_n P_n(x) \quad \dots(1.1)$$

where

$$a_n = (n + \frac{1}{2}) \int_{-1}^{+1} f(x) P_n(x) dx$$

and the n th Legendre polynomial $P_n(x)$ is defined by the following expansion:

$$\frac{1}{\sqrt{1 - 2xz + z^2}} = \sum_{n=0}^{\infty} P_n(x) Z^n.$$

We use the following notation :

$$\psi(t) = \psi(\theta, t) = f\{\cos(\theta - t)\} - f(\cos \theta)$$

$$\Psi(t) = \int_0^t |\psi(u)| du.$$

§2. Let $\{q_n\}$ be a sequence of constants real or complex, such that

$$Q_n = q_0 + q_1 + \dots + q_n \neq 0.$$

The sequence to sequence transformation

$$t_n(x) = \frac{1}{Q_n} \sum_{v=0}^n q_{n-v} U_v(x), \quad (Q_n \neq 0) \quad \dots(2.1)$$

where $\sum_{\nu=0}^{\infty} u_{\nu}(x)$ is an infinite series and

$$U(x) = u_0(x) + u_1(x) + \dots + u_n(x)$$

defines the sequence $\{t_n(x)\}$ of Nörlund means (Nörlund 1919, Woronoi 1932) of the sequence $U_n(x)$, generated by the sequence of coefficients q_n .

If there exists a function $U = U(x)$, such that

$$\lim_{n \rightarrow \infty} [t_n(x) - U] = 0 \tag{2.2}$$

uniformly in a set E , then we say that the series $\sum u_n(x)$ is summable uniformly in E to the sum U .

The regularity conditions of (N, q_n) method are (Hardy 1949)

$$\lim_{n \rightarrow \infty} \frac{q_n}{Q_n} = 0 \tag{2.3}$$

and

$$\sum_{k=0}^n |q_k| = O(|Q_n|). \tag{2.4}$$

If it is assumed that $\{q_n\}$ is real, non-negative and monotonic increasing sequence, then the transformation defined by (2.1) is regular.

§3. In this paper, we establish the following :

Theorem — Let $\epsilon(x)$ be a non-negative function of x such that $\epsilon(x)/(x \log x)$ is monotonic and $\epsilon(x)/\log x = O(1)$, as $x \rightarrow \infty$. If

$$\sum_{\nu=2}^n \frac{\epsilon(\nu) Q_{\nu}}{\nu \log \nu} = O(Q_n),$$

as $n \rightarrow \infty$ and

$$\int_0^t |f(x \pm u) - f(x)| dx = o\left[\frac{t \epsilon\left(\frac{1}{t}\right)}{\log \frac{1}{t}}\right] \tag{3.1}$$

uniformly in a set E , defined in the interval $(-1, 1)$ in which $f(x)$ is bounded as $t \rightarrow +0$, then the series (1.1) is summable (N, q_n) uniformly in E to the sum $f(x)$,

where $\{q_n\}$ is a sequence of real, non-negative and non-increasing constants, such that Q_n tends to infinity with n .

§4. The following lemmas are used in proving our theorem.

Lemma 1 (Sansone 1959) —

$$\sum_{\nu=1}^n (2\nu + 1) P_{\nu}(x) P_{\nu}(y) = (n + 1) \frac{[P_{n+1}(y) P_n(x) - P_n(y) P_{n+1}(x)]}{(y - x)}. \tag{4.1}$$

This identity is known as Christoffel’s formula of summation.

Lemma 2 — Under the condition (3.1), we have

$$\int_0^t |f\{\cos(\theta - \nu)\} - f(\cos \theta)| d\nu = o\left[\frac{t \epsilon\left(\frac{1}{t}\right)}{\log \frac{1}{t}}\right] \tag{4.2}$$

as $t \rightarrow +0$, where $x = \cos \theta$, $x + u = \cos \varphi$ and $\theta - \varphi = \nu$.

This lemma can be proved on the lines of Foá (1943).

Lemma 3 (McFadden 1942) — For $0 \leq a < b \leq \infty$; $0 < t \leq \pi$ and any n .

$$\left| \sum_{k=a}^b q_k e^{i(n-k)t} \right| \leq C Q_t \tag{4.3}$$

where C is an absolute constant and $\tau = \left[\frac{1}{t} \right]$

§5. PROOF OF THE THEOREM : The n th partial sum of the series (1.1) is

$$\begin{aligned} S_n(x) &= \sum_{\nu=0}^n a_{\nu} P_{\nu}(x) \\ &= \frac{(n + 1)}{2} \int_{-1}^{+1} f(y) \frac{[P_{n+1}(y) P_n(x) - P_n(y) P_{n+1}(x)]}{(y - x)} dy \end{aligned}$$

(by Lemma 1).

Putting $f(y) \equiv 1$, it can be easily seen that

$$1 = \frac{(n + 1)}{2} \int_{-1}^{+1} \frac{[P_{n+1}(y) P_n(x) - P_n(y) P_{n+1}(x)]}{(y - x)} dy.$$

Therefore,

$$S_n(x) - f(x) = \frac{1}{2}(n + 1) \int_{-1}^{+1} [f(y) - f(x)] \times \frac{[P_{n+1}(y) P_n(x) - P_n(y) P_{n+1}(x)]}{(y - x)} dy$$

and so

$$S_{n-k}(x) - f(x) = \frac{1}{2}(n - k + 1) \int_{-1}^{+1} [f(y) - f(x)] \frac{[P_{n-k+1}(y) P_{n-k}(x) - P_{n-k}(y) P_{n-k+1}(x)]}{(y - x)} dy.$$

Let us take a positive number s , less than 1, and consider it as the sum of the two other positive numbers μ and δ . Let d be another positive number, such that $0 < d < \mu$ and μ_x and μ'_x be two continuous functions of x within $(-1, +1)$, which lie within the limits $d \leq \mu_x \leq \mu, d \leq \mu'_x \leq \mu$.

Therefore, for $-1 + s \leq x \leq 1 - s$, we have

$$S_{n-k}(x) - f(x) = \frac{1}{2}(n - k + 1) \left[\int_{-1}^{x-\mu_x} + \int_{x-\mu_x}^{x+\mu'_x} + \int_{x+\mu'_x}^{+1} \right] [f(y) - f(x)] \times \frac{[P_{n-k+1}(y) P_{n-k}(x) - P_{n-k}(y) P_{n-k+1}(x)]}{(y - x)} dy, \\ = A_{n-k}(x) + B_{n-k}(x) + C_{n-k}(x), \text{ say.} \tag{5.1}$$

Hobson (1931) has shown that for $-1 + s \leq x \leq 1 - s$,

$$\lim_{n \rightarrow \infty} A_{n-k}(x) = 0 \tag{5.2}$$

and

$$\lim_{n \rightarrow \infty} C_{n-k}(x) = 0 \tag{5.3}$$

uniformly in the set E .

Now we suppose that $x = \cos \theta, y = \cos \varphi, 0 < \theta < \pi, 0 < \varphi < \pi, 1 - \delta = \cos \rho, \rho = 1 - (\mu + \delta) = 1 - s = \cos(\rho + \sigma), \rho > 0, \sigma > 0$, we have

$$0 < \rho < \frac{\pi}{2}, \rho + \sigma < \frac{\pi}{2}.$$

Thus, if η denotes the minimum of $[\text{arc cos } u - \text{arc cos } (u + \mu)]$ for u in $(-1, 1 - \mu)$, we have on the lines of Sansone (1959)

$$B_{n-k}(\cos \theta) = \frac{1}{2} (n - k + 1) \int_{\theta-\eta}^{\theta+\eta} [f(\cos \varphi) - f(\cos \theta)] \times \frac{[P_{n-k+1}(\cos \varphi) P_{n-k}(\cos \theta) - P_{n-k}(\cos \varphi) P_{n-k+1}(\cos \theta)]}{(\cos \varphi - \cos \theta)} \sin \varphi d\varphi$$

in which $\rho + \sigma \leq \theta \leq \pi - (\rho + \sigma)$; $0 < \eta \leq \sigma$.

With successive transformation, we obtain

$$B_{n-k}(\cos \theta) = D_{n-k}(\theta) + E_{n-k}(\theta); \text{ say,} \tag{5.4}$$

where

$$D_{n-k}(\theta) = \frac{1}{2\pi \sqrt{\sin \theta}} \int_{\theta-\eta}^{\theta+\eta} \frac{[f(\cos \varphi) - f(\cos \theta)]}{\sin \frac{1}{2}(\theta - \varphi)} \times \sin (n - k + 1) (\theta - \varphi) \sqrt{\sin \varphi} d\varphi$$

and obviously

$$E_{n-k}(\theta) = o(1) \tag{5.5}$$

as $n \rightarrow \infty$, uniformly when x lies within $(-1 + s, 1 - s)$, i.e., in the set E .

Putting $\theta - \varphi = t$, we get

$$D_{n-k}(\theta) = \frac{1}{\pi \sqrt{\sin \theta}} \int_0^\eta \frac{f\{\cos (\theta - t)\} - f(\cos \theta)}{\sin \frac{1}{2}t} \times \sin (n - k + 1) t \sqrt{\sin (\theta - t)} dt. \tag{5.6}$$

So, we have from (5.1) to (5.6)

$$\begin{aligned} S_{n-k}(x) - f(x) &= \frac{1}{\pi \sqrt{\sin \theta}} \int_0^\eta \frac{f\{\cos (\theta - t)\} - f(\cos \theta)}{\sin \frac{1}{2}t} \times \sin (n - k + 1) t \sqrt{\sin (\theta - t)} dt + o(1) \end{aligned}$$

since $f(x)$ is bounded on the set E , $o(1)$ will tend to zero for any x uniformly in E .

Now,

$$\begin{aligned}
 & \frac{1}{Q_n} \sum_{k=0}^n q_k \{S_{n-k}(x) - f(x)\} \\
 &= \frac{1}{Q_n} \sum_{k=0}^n q_k \frac{1}{\pi \sqrt{\sin \theta}} \int_0^\eta \frac{f\{\cos(\theta - t)\} - f(\cos \theta)}{\sin \frac{1}{2} t} \\
 & \quad \times \sin(n - k + 1)t \sqrt{\sin(\theta - t)} dt + o(1), \text{ uniformly in } E. \\
 &= \frac{1}{\pi \sqrt{\sin \theta}} \int_0^\eta [f\{\cos(\theta - t)\} - f(\cos \theta)] \sqrt{\sin(\theta - t)} \\
 & \quad \times \frac{1}{Q_n} \sum_{k=0}^n q_k \frac{\sin(n - k + 1)t}{\sin \frac{1}{2} t} dt + o(1), \text{ uniformly in } E. \\
 &= O \left[\int_0^\eta |\psi(t)| |N_n(t)| dt \right] + o(1), \text{ uniformly in } E. \\
 &= O \left[\int_0^{n^{-1}} |\psi(t)| |N_n(t)| dt \right] + O \left[\int_{n^{-1}}^\eta |\psi(t)| |N_n(t)| dt \right] + o(1). \\
 &= I + J + o(1) \text{ say} \tag{5.7}
 \end{aligned}$$

where

$$N_n(t) = \frac{1}{Q_n} \sum_{k=0}^n q_k \frac{\sin(n - k + 1)t}{\sin \frac{1}{2} t}.$$

To prove the theorem, we have to show that, under our assumptions uniformly in E ,

$$I + J = o(1), \text{ as } n \rightarrow \infty.$$

Now uniformly in $o < t < n^{-1}$

$$\begin{aligned}
 N_n(t) &= \frac{1}{Q_n} \sum_{k=0}^n q_k \frac{2(n - k + 1) |\sin \frac{1}{2} t|}{|\sin \frac{1}{2} t|} \\
 &= O(n).
 \end{aligned}$$

Hence,

$$\begin{aligned} I &= O \left[n \int_0^{n^{-1}} |\psi(t)| dt \right] \\ &= o \left[n \frac{1}{n} \frac{\epsilon(n)}{\log n} \right] \\ &= o(1) \end{aligned}$$

uniformly in E , by the condition of the theorem and by Lemma 2.

Again, for $n^{-1} \leq t \leq \eta$

$$\begin{aligned} N_n(t) &= O \left[\frac{1}{Q_n \sin \frac{1}{2} t} \sum_{k=0}^n q_k \sin(n - k + 1) t \right] \\ &= O \left[\frac{Q_r}{t Q_n} \right], \end{aligned}$$

by virtue of Lemma 3.

Also,

$$J = O \left[\frac{1}{Q_n} \int_{n^{-1}}^{\eta} |\psi(t)| \frac{Q_r}{t} dt \right].$$

Now,

$$\begin{aligned} \frac{1}{Q_n} \int_{n^{-1}}^{\eta} |\psi(t)| \frac{Q_r}{t} dt &= \frac{1}{Q_n} \left[\Psi(t) \frac{Q_r}{t} \right]_{n^{-1}}^{\eta} \\ &\quad + \frac{1}{Q_n} \int_{n^{-1}}^{\eta} \frac{\Psi(t) Q_r}{t^2} dt - \frac{1}{Q_n} \int_{n^{-1}}^{\eta} \Psi(t) \frac{1}{t} dQ_r. \\ &= o \left(\frac{1}{Q_n} \right) + o \left[\frac{\epsilon(n)}{\log n} \right] + o \left(\frac{1}{Q_n} \right) \int_{n^{-1}}^{\eta} \frac{\epsilon(s) Q_{[s]}}{s \log s} ds \\ &\quad + o \left(\frac{1}{Q_n} \right) \int_{n^{-1}}^{\eta} \frac{\epsilon(s)}{\log s} dQ_{[s]}. \\ &= o(1) + o \left(\frac{1}{Q_n} \right) \sum_{\nu=2}^n \frac{\epsilon(\nu) Q_{\nu}}{\nu \log \nu} + o \left(\frac{1}{Q_n} \right) \int_{n^{-1}}^{\eta} dQ_{[s]} \end{aligned}$$

$$\begin{aligned}
 &= o(1) + o\left(\frac{1}{Q_n}\right) \sum_{v=0}^n q_v \\
 &= o(1)
 \end{aligned}$$

uniformly in E by the hypothesis of the theorem. Hence, we have proved that $I + J = o(1)$. Consequently, the theorem follows.

ACKNOWLEDGEMENT

The authors are thankful to the referee for his valuable suggestions.

REFERENCES

- Chapman, S. (1912). On the summability of series of Legendre's functions. *Math. Annln*, **72**, 211-27.
- Foá, A. (1943). Sulla Sommabilità forte della serie di Legendre. *Boll. Un. mat. ital.*, **2**, 18-27.
- Haar, A. (1911). Über die Legendresche Reihe. *Re. Circ. mat. Palermo*, **32**, 132-42.
- Hardy, G. H. (1949). *Divergent Series*. Clarendon Press, Oxford.
- Hobson, E. W. (1909). On the representation of a function by a series of Legendre's functions. *Proc. Lond. math. Soc.*, **7**, No. 2, 24-29.
- (1931). *The Theory of Spherical and Ellipsoidal harmonics*. The University Press, Cambridge.
- Kogebetliatz, E. K. (1942). Über (C, δ) summierbarkeit der Laplaceschen reihe for $\frac{1}{2} < \delta < 1$, *Math. Z.*, **14**, 99-109.
- McFadden, L. (1942). Absolute Nörlund summability. *Duke math. J.*, **9**, 168-207.
- Nörlund, N. E. (1919). Sur une application des fonctions permutables. *Lunds Univer. Arsskrift*, **16**, No. 2, 1-10.
- Plancherel, M. (1914). Les problèmes de cantor et de Bois Reymond dans la théorie de séries de Polynômes de Legendre. *Annls. Ec. natn. sup.*, **31**, 223-62.
- Sansone, G. (1959). *Orthogonal Functions*, English Edition. Interscience Publishers, Inc., New York.
- Tripathi, L. M. (1977). On Nörlund summability of Legendre series. *Prog. Math., Banaras Hindu Univ.*, **11**, No. 1, 85-91.
- Woronoi, G. E. (1932). Extension on the notion of the limit of the sum of terms of an infinite series. *Ann. Math.*, **23**, 422-32.